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Chapter 2 Gifted and Enrichment Answers

1. SA of cut out circles: (3)(π)(2.252) ≈ 47.712 cm2
SA of feeder: (2)(π)(4.52) + (2)(π)(4.5)(29) 
≈ 947.189

SA of painted surface: 947.189 – 47.712 
≈ 899.477
The surface area of the bird feeder to be painted is approximately 899 cm2.

2. 3 ft = 1 yd; 87 ft = 29 yd

Vright cylinder = πr 2h; Vhemisphere = 
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Volume of air = Vright cylinder + Vright hemisphere:
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The volume of air in the observatory is approximately 139 000 yd3.
3. a) Volume of box: (6)(11)(11) = 726
         The volume of the box is 726 cm3.
    b) 1 cm ≈ 0.3937 in.; 6 cm ≈ 2.3622 in.;
   11 cm ≈ 4.3307 in.

   Volume of box: 
    (2.3622)(4.3307)(4.3307) ≈ 44.3029… 

   The volume of the box is 44 in.3, to the nearest  

    cubic inch.
    c) h = 11 cm; V = lwh
        1452 = (x)(x)(11)

          132 = x2
         11.5 ≈ x
       1 cm ≈ 0.3937 in.; 11 cm ≈ 4.3307 in.

       The dimensions are approximately 11.5 cm by 
       11.5 cm by 11 cm or 4.5 in. by 4.5 in. by 4.3 in..
    d) If each side is doubled, the volume of the box is 

        (2l)(2w)(2h) = 8lwh. The box would have 8 times 
        the volume of the small box.

4. 1 m ≈ 3.2808 ft; 2 m ≈ 6.5616 ft; 8 in. ≈ 0.667 ft


Volume of square part: (6.5616)(6.5616)(0.667) 
= 28.717 414...
Volume of half-cylindrical part: 
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Total volume: 28.717 414 + 11.277 302

= 39.994 716

The total volume is approximately 39.9 ft3.
Number of bags: 
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Ashton needs to purchase 10 bags of compost mix.
5. a) Double the radius: 
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   When the radius is doubled, the volume of the 
    new cone is 4 times the volume of the original 
    cone.

b) Double the radius and the height:
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    When both the radius and the height are doubled, 

    the volume of the new cone is 8 times the volume 
    of the original cone.

c) Double the radius and halve the height:
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    When the radius is doubled and the height is  

    halved, the volume of the new cone is twice the 
    volume of the original cone.

6. a) SA = 2lw + 2lh + 2wh
              = 2(2)(2) + 2(2)(4) + 2(2)(4)

              = 40

        The surface area of the right prism is 40 m2.

    b) The surface area of the cube is (6)(16) = 96 m2.
    c)
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         The surface area of the right pyramid is 39 m2.
         The cube has the greatest surface area.
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